Al 2ol & Al Al A
20243 204k X ArH S-S A
£A: st
& 200 M2l
2 210 ZAEAMI2I2L]
st 215 ArnE 301 (CHl: X 2l)
2NH-F-2-8-5F Ol &F of & 0| AroH HnszZ
& A 1,177,000 571,000 606,000
ot 1t 1,177,000 571,000 606,000
200 M2l 339,000 53,784 285,216
210 ZHEANLI+=S 59,000 53,784 5,216
215 AxuE324¢ 53,000 52,000 1,000
215-01 =23+ 53,000 52,000 1,000
OotEAIBE d=+123 53,000
—ElANER 70,000, 000%*50/100) 35,000
—otEsAEE 60,000,00024%30/ 100} 18,000
216 OlXt==& 6,000 1,784 4,216
216-01 20301 Xt~ 6,000 1,784 4,216
O2303 Olkt=L 6,000,000 14 6,000
230 NIYHENM - Sit= 280,000 0 280,000
236 2<3 280,000 0 280,000
23601 €= 280,000 0 280,000
OEad 22| s30i28 FuUHE HESAHSTREBAL
280,000,000 14! 280,000
500 2x2 245,380 235,685 9,69
520 Al - SHIEZXZ2S 245,380 235,685 9,695
521 Al - SHIBXZS 245,380 235,685 9,695
521-01 Al - EHIEXSS 245,380 235,685 9,695
OJIEME HlIA 10,000,000 x 1Al 10,000
OXgotd =282 L FHIAY 20,000,000 x1A! 20,000
Owr= N&E= HHALS 100,000,0002! 14! 100,000
Og2d HSaYxE EXIAE 70,000,000 % 14! 70,000
OotdZAl HRAZZ Q12| 45,380,000 14! 45,380
700 2L SLLHEHH 592,620 281,531 311,089
710 BES 50,000 4,531 45,469
711 Loi= 50,000 4,531 45,469
711-01 =HIAHL 0= 50,000 4,531 45,469
O=AAHLNHZ 50,000,000 x 14! 50,000
720 LS4l 542,620 277,000 265,620
721 M3 542,620 277,000 265,620
721-03 JIEt2| AN LS 542,620 277,000 265,620
OZHIZZ Al [HE AWl 2= 542,620
—JI8HY EHIAS 10,000,000 % 14! 10,000
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20248 =0l&t XI=AtHASE3H &H

=M SHE D
HE: SIEBRI(RELX WL/ 2XIR)
o9l BIHRI(XI4AIS 1)

HEE

2A - HH - H(SH) - MRAIY - BES Ol &K Ol AFol Hns2
St& 1t 1,177,000 571,000 606,000
[ 245,380
Al 931,620
SHEZR|(ZEL XN/ 2 XH) 972,720 361,915 610,805
[ 200,000
Al 772,720
ENEEIEINEEEEP) 412,720 361,915 50,805
[ 200,000
Al 212,720
A=SE 2THIHS 12,720 11,915 805
201 LB A 4,080 3,275 805
01 AFR2t2IHI 3,080 2,275 805
OFAZE I/=H| 900
—gst=(SE|) 200,00024+3H 600
= 100,0002%32*13] 300
OBIEAIRZ 2ARX Y
20,0002/ +3Et Ax 128 720
OBIEAIRZ =AD| EH 7Y
200,000 %53+ 1CH 1,000
OJIEF AFR22t2ld] 460,000 %14l 460
02 222YH| 1,000 1,000 0
Ostdg2ld| 1,000,000 %13 1,000
202 04H| 8,640 8,640 0
01 2oL 8,640 8,640 0
OHJZE oH 8,640
— 20| 20,0003 122 x 122 8,640
[ EEEEEINEESS 400,000 350,000 50,000
[ 200,000
Al 200,000
401 Al&H| 2 S HY 400,000 350,000 50,000
[ 200,000
Al 200,000
01 Al&H] 400,000 350,000 50,000
OJ &MY ZHIA 20,000,000 % 14! 20,000
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Al 10,000
OX et $+2F2 L FHHIAIY
40,000,000 * 14! 40,000
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Al 20,000
0S4 XNE=S MHA
200,000,000 x 14! 200,000
[ 100,000
Al 100,000
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OS2 22| S501S Z0IHE SETA
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560,000,000 * 1419928/ 100 555,968
03 Al CHH 4,032 0 4,082
OHSH 22| S50I2 FoIAH SETA
(%=X T AL 280840+ )
560,000,000 *141%0.72/100 4,032
AN 2SHAY|(SH D) (J1EHIIEH 204,280 209,085 14,805
[ 45,380
Al 158,900
S AH|(XISALES S H) 204,280 209,085 A4,805
[ 45,380
Al 158,900
(C)SIHAAZAZE 229 204,280 209,085 4,805
[ 45,380
Al 158,900
101 Q124 160,898 165,777 14,879
[ 45,380
Al 115,518
02 JIERIE 160,898 150,525 10,373
oJlez 93,447,600 %14 93,448
[ 45,380
Al 48,068
O¥==+< 93,448,0002*1/ 122 7,788
OXF24Y IH2 1,680
—15140|0¢ 60,0002 *1 2+ 122 720
—20= 0|8t 80,0002 *12x 128 960
OFMZAH| 140,000 x3% 122 5,040
OSE=IHI 93,448,0002 * 120%+1/122 9,345
OGS AM]
93,448,000 %86%+1/30% 122 x1/ 122 2,679
OXsA £=¢ 30,000 %1 * 12 360
ONE% 1,680
—IIESL (IR
40,0002+ 128 960
—JI=E2(0IE}) 30,000R*2 % x 122 720
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